aframe-p!!4°

aframe-p(es; i; k; L)
=4ef alle-at(es;
e.((es-kind(es; e) = k)
= (Va:Id.
((—(es_state_after(es; e)(x) = es_state_when(es; e)(x))) = (z € L))
A ((-(xz € L)) = (es_state_after(es; e)(z) = es_state_when(es; €)(z))))))

clarification:

aframe-p(es; i; k; L)
=qet alle-at(es;
i
e.((es-kind(es; ) = k € Knd)
= (Va:Id.
((—(es_state_after(es; e)(x)
es_state_when(es; e)(x)
€ rationals—es-vartype(es; i; x)))
= (z € L €1d))
A ((—(x € L € 1d))
= (es_state_after(es; e)(x)
es_state_when(es; e)(x)
€ rationals—es-vartype(es; i; ))))))
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